Examlet 2 Foundations of Advanced Math

1. Write each of the sets below as simply as possible:

(a) Whatis {1, 3} — {2,4}?

{1, 3}

e ————— e

AnB’

(b) Whatis (1,3) — (2,4)?

(1,2]

—

(c) Whatis[1,5] N [5,8]?
{5}

(d) Whatis {1,2} x {2,4}?

{U,2),(2,2),(1,4) (24)}

(e) Whatis P{1,2}?

{41} {xx {1, 2} }

e

10/4/19

5{45//%/ /




foell, debe x & 4,> iy o >
‘) <X ((-(G‘J[c . WXéX—AvJ (X g/tlx

o 1 (Jeer, xed:)
o Neex, 1xede b tehoxomy (3

o YT, xé/fc-,

0 xén/{
‘ﬂw/}»z(‘(‘{_/> ‘Qz’/

Nsro dake xé& QIAC" % J\/ééI, xéfﬂ'v[’(é/{e/
s V&é_z_) 7yé,4£
50 -757céI v €A; é]//gloxan;?./Z
70 "(xéU/>
+7) xf(UA>
inlere f)/( C(U/) o Hhos (U/) =N4. a
ier



3.

(@) Va,b,c,de R,a>bAc>d=a+c>b+d.
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(b) Va,b,c,de R,a>bAc>d=a—-c>b-d.
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4. Vie Z' let A; =[0,1/n]
(a) What is (Nie,03 Ai?

Lo, ]n]o.4[n[0.4]

[0,4] 2./
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(b) What is N;cz+ Ai?
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5. VxeR, —|x| < x < |x].
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